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7.

™
ils. - &s walk to

 school by bus and

10.

(e v ~Otwjesgi

By how much

@) 6

©

&&ch option is equal t0 0.77 +7 2 &

s @ 1=+11

(b) 7+0.77 (b)y 77+17
What fraction of T 3 is 40 paise?

@ + ®)

2
(c) 15 (d) 1

What is the value of

1 1) |
35'[12 {25‘[‘5‘3)}]?
(@ 05 (b) 2
© 1 @ o

| -':*I";l.' II'I '_‘_'| _I. - .

(b) 0.66+6 . (201



fl![-lﬁ.: POTT Y (T
(d) 43&
168

‘-
e

ﬁfi’tﬁn numbers is 15-6 If one of

13 6% find the other number.

. (2015) 19, If%=2+
o 3
(@ — }= -
L a5 ®) 8 D c
b | I L
R 3, 3 num@\‘thevalueofa,bandc
(© 25 @ 33 . (2016, Tricky)
S e 1,5,3 ® 13,5 .
. Calculate the value of a= _
R o ovetiee &c% 1,5,2 @ 1,2,5
oW 4.[( 5 ) 5} % , 3
I G S 2zh+10 £ lggx 0.34-0.034 -
2] a9 bk 12 18| 5 0. Find the value of 000434 -;
A e s (2016, CriticalT in (a) 3060 (b) 306
T ) 0306 d) 00306
® 35 3 : : ;
16 21.  Simplify: 01+001+0001+—+—+L g
(c) 35 10 nu
(2015 Tricky)
18 Viiavocan wi : ; h (@) 0222 (b) 0333
15. Vijay can walk 1 an hour. How muc © 0111 (d) 0010
315 M
22. IfM=9,N= 5 11 ﬁndthevnlueof'ﬁv
@ 1 ® 9 -
© 3 d) 6
23. Is this statement true or false?\;z
(a) False

@ -4

(c) Cannot be define
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H II@W*‘#@'W@W \ﬁe balls =3

R
£ i3

3‘-4'9 x0.9+4.32 % o % of total balls = 3

. 5"'!52’"?' o, :\~. = Total number of balls =3 x 12‘==:3&
s o9
At ? p Hence number ofred balls = — of 36
B 404422 AN T
¢ v/ |
367 247

=2375- 43432 \\/ g -i—x

=6.695-4.3=2.39:
4. (a) Total number of pupils=35

Number of pupils who walk = % of35=15

Y

2 )

Number of pupils who cycle to

g =35-(15+14)=35-29=6

5. © 2=0714..,L=0538,. 2057000
7 13 7

4 =
i 5 75 =0-260.... and i=0.o'&._.;.;;
6.75%1.2=3.3+1.2x[ 7 14 o cl

P i 1:-»?,3-;-12:;[5t Thus 0.571..... or = is the third

2ol L] 7
48+3.3=33+12x[7] fraction.




48 3 192 3 189
R 28

1+11=0.0909....
0.66+6=0.11
7 = 0.77 =9.0909 e
Tl=7=11
, Hence 0.77 + 7=0.66+6
9. () I3=300Paise

o
Product of two numbers = 15.-:6-

uired fraction=) A 2
i ; One number = 6-3—

5 a2

th =15=+6—

other number 6 03

20 9519 }-1




61
7B

5

= ==}
fqu 181 13
- = 56

- () Sm: _'Q__ﬁstwhole numbe'r otherthan 0= | @
' | 7.1 &
" - Required part = L Y N7
1125 x 10=0,001125 ?\ 28.
L SLISx10=1125x10%  \{  29. (®) Money spent by 9 people

=%42.20x9=%379.80

30. (©) 4220x9+47.60x7+50x4
=379.80+333.20+200
=913

31. (d) If cost of one plate is T 47.60 _
Total cost of 20 plates = 47,60 x 20=95;
Difference=3%952-%913=%39

2 2
32. (c) Rahul walks Ekm =~ S 1000 = 400

From point A he walks 450 m. :
Distance covered by Rahul = 400 + 43
=850 m.
Also his friend has covered = 850 m
Both has covered (850 + 850)
Distance between Rahul and his

33. (d) Total required distance = 1.7
34. (©) (2000-400)m

. =1600m

35. @ 2km-085km=115km



e given below.

- @o1n @ 18F
© 360°




(b) )
(c) notriangle is formed
an equilateral triangle

n

E d the value of “x” in the given |




23.

(b) 65°
(d) 70°

'en dlagram BCD is an lsos

(@) 5:7 (®) 4:3
© 3:10 (@ 4:3 M
The hypotenuse of a right angled triangle is 15

cm. If one of the remaining two sides is 9 cm, ;
find the length of the other side.

(@ 10cm () 12cm

() 15cm (d 17cm

The lengths of the sides of two triangles are
below. Which of the following is a right :
triangle?

@ a= 15 cm, b=20cm andc—

(i) /e

(a) ﬂn'ly- (i)

(cJ '







nce, by exterior angle pi
P =68°+41°=109°
Let x, y and z is the angles, w
x +y+2z=180° (angle sum prop

(y+2)+y+z=180°
2(y+z)=180°

180° .
Yiz= o 90
x=90°, hence triangle is right angled.
AAQC is a right angled triangle
(AQ)? +(QC)>=(AC)?
(QC)*=(AC)*-(AQ)?
(QC)*=(37)%-(12)
1369144 =1225

(QCP=(35=QC=35
BC=BQ+QC=35+35

© InAPQR,
LP+/Q+ LR=




£P +£Q+ ZR=180° (Angle sum Pr
72°+60°+ /R=180°
ZR=T180°=720=60>=48°

o

48
5 ZQRA = /PRA= e 24°

In AQAR,
£Q+ LA+ LR=180°
30°+ ZA +24°=180°
= 180°-30°-24=126° $
QR-_— (4x+7)m1=(2x+5)m | -

or  (4x+7)=(2x +35)
=2x=-2x=(1)
S QR=4x +7=4(-1)+17-

' /BCA=180°~130°=50° (Li
/BAC = /BCA=50°
(Angles oppcsne to eqnal sides are




5= 140° = Tx=140°
(Co-interior angles) _
IW-BD" -110°=40° , eangle=2x20=4(°

v=40°: : Qh angle = (5 20°)= 100°
Lﬂ a'be the length of the other side ~ the third angle be .

- P=(157 - (9) Cry o 400+ 1000+ y=180°
Z225-81 ALY = y=(180°-140°)=40°,

— .@44:(12)2 ﬁ,::\ > Hence, the angles of the triangle aré

= g= 126111. N 1007 and 40°.
o ‘Hence, the length of the other side i %n 29. @ .
. (@ (i) Here,a=15cm,b=20cmand¢=25cm. 30. ®) (A)—@);B)p;(C)—>q;[D)->E
- Thelargest side is c =25 (A) In AABC, by angle sum property,
Now, 2+ b?= (15)2_;,(2 ' LA+ LB+ ZLC=180° '
ZC=180°-30°-50°=100°

(B) A

B

C >D

ZACD= Z/ABC + /BAC
_%"4-400 130° _ ‘3
In a right angled triangle greatest angle
therightangleie,90°
AA+4B+£C=1800 . _ '__

§00




e it. Fmd the east o_f
>road atT 50 perm’.  (2012)

ave the floor of a room 25 mlong anlem

Js'f
206 T 14216 | 5~
il (a) ?13. % &a) 18000 (b) m :
~ (¢) T14206 (d) 13167 © 2000 (d) 24000 3
3. Arsaoffour vallsofarectangulrroom s T2 . Amrginalvalkcall around thensideofan blong %
The length and breadth of the room are %‘ piece of ground 40 m by 35 m occupies 650 m*.
- and3.5mrespectively. The height of th(ﬂ/ Find the width of the walk. ;
(@ 77m (b) 3.5m (@ 3m (b) 4m
“(¢) 6.77m (d) S54m \/ (c) 5m (d) 6m

. o ¢

In the figure given below, a circle.of' diametre 9. The length of a rectangular plywood sheet is
42 cm is given. Inside this Circle thrice its breadth. If the cost of painting one :

circles with diametres 28 &, and 14 cm have side of the sheet at ¥ 14 per sq. m comes to
been drawn. Find th fthe shaded portion. ¥ 60.48, what is the length of the sheet in metres?
he: (2012) (2012)
(@ 432m (b) 144m
(¢) 24m (d) 3.6m &4

10.  Theperimeter ofa circular plot is equal to that of
a square plot. What is the ratio of their res
areas?

@ 13:11 (b) 14:11
© 15:11 (d) 16:11

S el 11.  Four circles of radius 1 ¢cm each

() 462 such a way on a plane paper

theodm Find them



0m’ ®) 8270m’
(0 8370m? () $470m’
3. In the adjoining figure the base of an ;sosceles
~ triangleis 24 cmand its area is 192 cm”.
Then the perimeter of the triangle is
f ' o (2011, Critcal Thinking)
P
i
jl §
K Q1 "R
B ' 24 cm '
(@) 64cm (b) 63cm
(¢) 62cm (d 6lem

14. In the figure, AD = 4 cm, CE = 6 cm,
AE = 5 cm and BE = 3 cm. The area of the
quadrilateral ABCD is:

C
I
I

£ P

i
I
I -
i
61
I
I
X

\

B ]
(@) 24cm’ \ (b) 34cm’
() 72¢ Qa (d) 48 cm?
15. In the CD is a trapezium in which

AB= , DC =9 cm and DE = 8 cm, The
area of CD is;

D J C

(a) 128 cm’ (b) 25 cm?
() 96cm’ (d) 216cm?

16. A 7mwide pathis to beconsu'nctedana,w |
and outside a circular garden of diameter 25 o

The cost of constructing the path at R, 50 N
square metre is ;

(a) Rs.13090 (b) Rs. 130900

(c) Rs.1309 (d) Rs. 13000

17. The radius of a circular sheet of metal is 14 5
circular piece of sheet is cut out from its cengre.

This piece has a radius of 7 he area of the
sheet left is

(a) 462sq.m (b sq.m

(c) 426sq.m @ ,2465q. m

18. A circular pond has 250 cm wide footpath along
the edge. A man.walks around the outer edge of
the footpath with 66 tm long steps. In 200 steps,
he makes a full'tound. The radius of the pond is

(Critical Thinking)
(a) 20m (b) 50m
(©) 20cm (d) 20.50m

Directions (Qs. 19 to 22) : A rectangular park is of
diménsions 90 m by 80 m. Four paths pass through
thespark such that two paths each width 2 m are
parallel to the breadth and two paths each of width 3
m are parallel to the length.

19. Total area of the two roads along the length is

(a) 270m? (b) 810m?
(c) 540m? (d) 504m?
20. Total area of the two roads along the breadth is
(a) 320m? (b) 160m?
(©) 230m? (d) 270m?
21. Total area of the four roads is
(a) 386m? (b) 836m?
(c) 863m? (d) 368m?
22. Area of the remaining portion of the parkis
() 6364m’ (b) 6463m’
(c) 6634m> (d) 6346m

23. The shape of a park is rectangular at the middie
and semi-circular at the ends as shown below

20 m
The area of shaded portionis
@ 84cm? (b) 85cm®
(¢) 45 om2 (d) 88 cm*



4, Area of shaded square formed by the joining
~ the mid-points of the sides of a square with area

o 16mlis (2017, Tricky)
Wi

-t D H C
i'ﬁ"n

E G
hk~¢"!

A F B

@ l6m? (b) 4m?

(©) 10m? (d) 8m?

25. The area of shape given below is

=2 cm=
]3 cm
4 cm
(a) 20cm? (B)' 19.9 cm®
(¢) 18cm? d 17cm?
26. The area of shaded region of the figure given
below is (2011)

SANNNNN g

(b) 30.5 cm?
(d) 47 cm?

(a) 78.5 cm?
(c) 42.8 cm?

1'4"¢rﬂ

27. In the following figure, the area of shaded

28.

29.

region is
(Critical Thinking)

(a) 322 em? "‘“‘;‘.,(\b). 4.4 cm?
(c) 354 cm? (d) 31.4 ecm?

In the followifig-figure, the area of shaded
region 1s

(a) 75 cm?

Bl
(c) 4
In the given fig. ABCD is a parallelogram. DL

1 ABandDM _| BC.IfAB=18c¢m.BC=12
cm and DM = 10 cm. Find DL.

& =t
M

B

61
(a) Ecm (b) 6cm

(c) 6%cm (d) None of these






4((80)* + 4800}

>d, + dy = 2/6400+ 4800 ..G) =

ZI— _ 22 o ._ .‘
=d +d,= 212.6 = [4L a8y
| "Simwlx (d, - d,)* = 4[(80)>— 4800 2 |
=4, Hd, = 2J. 1600 ... (i)
O e d, = 80 C constructing the road
Selving (i) and (i) ﬁn& 34%50=% 13167 |
d. = 14583 m: d2=,65 83 m 3& et h be the height of the room in metre, :h
o 1 R T
@@ Length (/) = 25 m, breadth (b) = 10 m, % then K
helght (h) =2m Area of four walls 4
Surface area = 2 (Ib + bh + Ih) \;E = 2(length + breadth) x k.
Surfacearea=2 (25 x 10+ 10 x</ 77=2(7.5 +3.5) x h .
—2(250+20+50) 77 %) B
rface area = 640 m’ Q} = Bl 4
Volume of cuboid = / x R 1k

‘Volume of cuboid =

P P =R

Length of diagopal™d’ =v/* +b* +h’

25+ (07 +(2 = V625+100+4

2945 IRE
- [142._72]57 [196 -49]

22
= = X147=460 cm’




Pbreadth of sheet = B
@‘ length of sheet =3 x B

1
,& Area of plywood A=L % B=3Bx B

Now, X

e, Total cost
€= Cost perm-sq.
60.48

2 =
o"” 14

B=12

L=3x12=36cm

J

(b) Let 4x be the perimeter of the squs re. 5o e

its area is x2. Circumference







